
N = 2281
2281 circles in a circle

radius =   0.019625821129
ratio  =  50.953282078529

density  = 0.878579282211
contacts = 3924
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N = 2282
2282 circles in a circle

radius =   0.019622844779
ratio  =  50.961010559504

density  = 0.878697876955
contacts = 3793
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N = 2283
2283 circles in a circle

radius =   0.019619436748
ratio  =  50.969862838683

density  = 0.878777607008
contacts = 4267
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N = 2284
2284 circles in a circle

radius =   0.019611122531
ratio  =  50.991471723886

density  = 0.878417553876
contacts = 4211
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N = 2285
2285 circles in a circle

radius =   0.019582244031
ratio  =  51.066670316951

density  = 0.876215882752
contacts = 4219
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N = 2286
2286 circles in a circle

radius =   0.019580221219
ratio  =  51.071945962038

density  = 0.876418253946
contacts = 4353
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N = 2287
2287 circles in a circle

radius =   0.019599461236
ratio  =  51.021810648929

density  = 0.878525620248
contacts = 4237
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N = 2288
2288 circles in a circle

radius =   0.019593597953
ratio  =  51.037078662656

density  = 0.878383976721
contacts = 4499
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N = 2289
2289 circles in a circle

radius =   0.019567870174
ratio  =  51.104182065940

density  = 0.876461632236
contacts = 4353
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N = 2290
2290 circles in a circle

radius =   0.019564425548
ratio  =  51.113179763435

density  = 0.876535850677
contacts = 3798
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N = 2291
2291 circles in a circle

radius =   0.019558907615
ratio  =  51.127599745943

density  = 0.876424036495
contacts = 4201
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N = 2292
2292 circles in a circle

radius =   0.019585486136
ratio  =  51.058216939757

density  = 0.879191184380
contacts = 4117
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